= AH O
M = 0l &8 AF 2 ZH A A
2010 =& 2 3 LeFH HSIEWY ~ HSIEY
2A: HEsEAEY
H: sSHHKEES
S MEIE I8 =M (e dS)
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MsEAEL 44,451,895 50,456,649 26,004,754
= 896,000 854,006 41,994

& 7,505,000 7,505,000 0

J| 9,068,663 15,068,663 6,000,000

= 180,633 180,633 0

& 26,801,599 26,848,347 AN46,748

SHNSEE 37,818,400 43,822,454 A6,004,054
= 234,994 193,000 41,994

= 5,705,000 5,705,000 0

J| 7,395,020 13,395,020 6,000,000

& 24,483,386 24,529,434 246,048

HMEXZE DIt =4 17,563,955 17,610,003 AN46,048
= 113,000 113,000 0

| 72,000 72,000 0

& 17,378,955 17,425,003 AN46,048

dIIEH 84 K& 103,952 150,000 A46,048
307 2I2t0|™ 103,952 150,000 A46,048

02 0IZ2ZtEAMNE X 103,952 150,000 A46,048
OZJIHx s&8X&A 103,952 150,000 AN46,048
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307 Qlz2tol A 9,200,000 9,500,000 300,000

02 QIZtZAE X 9,200,000 9,500,000 A 300,000
OXIANE =4 9,200,000 9,500,000 A 300,000
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= 41,994 0 41,994

& 5,705,000 5,705,000 0
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41,994 0 41,994
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= 41,994 0 41,994

ME H=AE K& 5,660,000 11,660,000 6,000,000
7 | 5,660,000 11,660,000 6,000,000
FUMSHEHAE 400,000 6,400,000 6,000,000
| 400,000 6,400,000 6,000,000
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=2 180,633 180,633 0
= 1,044,269 1,044,969 AT700
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0 5,700 A5,700
0 5,700 A5,700
0 5,700 A5,700
132,000 127,000 5,000
Jl 72,500 72,500 0
= 59,500 54,500 5,000
23,000 18,000 5,000
) 18,000 18,000 0
= 5,000 0 5,000
23,000 18,000 5,000
5,000 0 5,000




